[image: image1.png]30 Rita multiplied the monomials 12a3b® and 3ab? as shown below.
(122%b°)(3ab?) = 36a%b®

Is Rita’s answer correct? On the lines below, explain how you determined your answer.




[image: image2.png]31 In the diagram below, line / and line m are parallel.

(5x — 28)°

(3x + 12)°

[not drawn to scale]

Solve for x.




[image: image3.png]34 In the diagram below, 2PRQ measures 73°.

[not drawn to scale]

What is the measure of ZQRT ?




[image: image4.png]35  What is the polynomial resulting from the subtraction below?

(3x% + 4x —7) — (® — 2x + 6)




[image: image5.png]43  The table below shows the coordinates of triangle RST and the coordinates of R’
in triangle R'S'T". Triangle R'S'T"is a dilation of triangle RST.

Triangle Triangle
RST R'S'T

R | (-2-3) | R | (-6,-9)
s |2 s’
T @-3 T

Part A

What are the coordinates of point " and point T'?




[image: image6.png]45 In the diagram below, /DEF and ~FEG are complementary.

[not drawn to scale]

What is the measure of ZFEG?




